Division par 10° (D)

3,12 =103 =

2,1+10°=

1,758 ~ 10°% =

921 +10%=

4,4375 + 10° =

1,121 =+ 103 =

3,319 +~ 10° =

5,89 + 103 =

2,636 =103 =

2,832+ 103 =

Trouvez chaque quotient.

4,2 +10° =

2,878 + 10° =

8,863 = 103 =

8,5424 + 103 =

9,2 +10°=

8,833 + 10° =

956 + 10% =

6,6932 + 103 =

49 +10° =

5,916 = 103 =
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Division par 10° (D) Solutions

Trouvez chaque quotient.

3,12 +10°=0,00312

2,1+10°=0,0021

1,758 + 10°* = 0,001758

9,21 +10%=0,00921

4,4375 + 10° = 0,0044375

1,121+ 10°=0,001121

3,319 + 10° = 0,003319

5,89 + 10° = 0,00589

2,636 + 10° = 0,002636

2,832 +10%=0,002832

4,2 +10%=0,0042

2,878 + 10° = 0,002878

8,863 + 10° = 0,008863

8,5424 + 10° = 0,0085424

9,2 +10°=0,0092

8,833 + 10° = 0,008833

9,56 + 10° = 0,00956

6,6932 + 10° = 0,0066932

4,9 +10°=0,0049

5,916 = 10% = 0,005916
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